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Abstract

Comments
	Number
	Commenter's Name    


	Doc_Reference    


	Section/Item    
	Comment
	Proposed resolution
	E, TN, TY
	Pri
	Status
	Consensuso

	
	Masahiro TAKAGI
	11-03/802r13
	VoIP Application (Table.4)
	The offered load has range from 0.02 to 0.15 Mbps, but every usage model uses 0.15 Mbps. This means that VoIP packet is generated every 5.33msec. It is too frequenct, we believe that 20msec is typical (G.711 64kbps voice data rate and 160bytes voice data per packet).
	If we consider per packet overhead above Link layer, 96 kbps and  240 bytes seems to be an appropriate one
	TY
	
	
	

	
	Masahiro TAKAGI
	11-03/802r13
	Interactive Gaming Controller (Table.4)
	This controller generate packet every 800micro second. This seems too frequent and typical gaming Controller traffic characteristic is not known, so this shold not be included as a representative traffic.
	Remove interactive gaming controller.
	TY
	
	
	

	
	Masahiro TAKAGI
	11-03/802r13
	Scenario 19
	The location of STA1 (legacy) and STA2 (HT) is not appropriate to evaluate the backward compatibility of proposed PLCP preambles and headers from the CCA point of view.
	Change the location of STA1 (legacy)  from (0, 10) to (-10, 0). Location of STA2 (10, 0)  shall not be changed
	TY
	
	
	

	
	Masahiro TAKAGI
	11-03/814r17
	CC7
	MAC processing complexity should include 802.11i.
	Add 802.11i to the definition.
	TN
	
	
	

	
	Masahiro TAKAGI
	11-03/814r17
	CC11
	Backward compatibility should include 802.11g as well as 802.11-1999 (2003)
	Change the name of CC11. Add 802.11g to definition.
	TN
	
	
	

	
	Masahiro TAKAGI
	11-03/814r17
	CC15
	Legacy share should be T3/T2 rather than T3/T1.

Legacy impact should be (T1 – T4)/T1 rather than  (T2 – T4)/T2

T1 : HT goodput.

T2 : Legacy goodput.

T3 : Legacy goodput sharing with  HT.

T4 : HT goodput sharing with legacy.
	Change as specified in the comment
	E or TY
	
	
	

	
	Masahiro TAKAGI
	11-03/814r17
	CC24
	It is not clear enough how to calculate the averate data rate. How to count IFS and backoff?
	Clarify.
	TY
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